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witqn (3 i`pz z` xnelk)oeieey gikedl ick .Hp1Hp2 · · ·Hpm ⊆ Gy xexa •
.|Hp1

· · ·Hpm
| = |G| ze`xdl

Hp1Hp2 · · ·Hpm = {x1x2 · · ·xm : ∀ixi ∈ Hpi}

x1 · · ·xm = m` .∀ixi, yi ∈ Hpi ,x1 · · ·xm, y1 · · · ym ∈ Hp1 · · ·Hpm gipp
(zeila` llba)f` y1 · · · ym
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t∑
i=1

ki =y jk (k1, k2, ...kt) miirah mixtqn ly xehwe `id n irah xtqn ly dwelg

k1 ≥ k2 ≥ ... ≥ kte n

dnbec

:ly zewelg

n

1 (1)

2 (2) , (1, 1)

3 (3) , (2, 1) , (1, 1, 1)

4 (4) , (3, 1) , (2, 2) , (2, 1, 1) , (1, 1, 1, 1)

5 (5) , (4, 1) , (3, 2) , (3, 1, 1) , (2, 2, 1) , (2, 1, 1, 1) , (1, 1, 1, 1, 1)

dnbec

81 xcqn zeila` zexeag oiin

daeyz

81 = 34

G ∼= Z34 = Z81

e`

Z27 × Z3

e`

Z9 × Z9

e`

Z9 × Z3 × Z3

e`

Z3 × Z3 × Z3 × Z3
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